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d

dt
ILR(t) = −ka · il1(t) · ILR(t)+(1−uv(t) ·uvinh) · (1− chx(t)) ·kilr− ILR(t) ·kilr

d

dt
ILRc(t) = ka · il1(t) · ILR(t)− ki · ILRc(t)

d

dt
IKK(t) = −kp ·ILRc(t) ·IKK(t)+kdp ·PP2A(t) ·

IKKp

Km + IKKp
−kpconst ·IKK(t)

d

dt
IKKp(t) = kp ·ILRc(t) ·IKK(t)−kdp ·PP2A(t) ·

IKKp

Km + IKKp
+kpconst ·IKK(t)

d

dt
IκBα(t) = −a2 · (1−mg(t)) · IKKp(t) · IκBα(t)+

(1− chx(t)) · (1− uv(t) · uvinh) · c4a · IκBαt(t)−

c5a · (1−mg(t)) · IκBα(t)− i1a · IκBα(t)+

e1a · IκBαn(t)− ap1 · IκBα(t) · Comp(t)+

ap11 · IκBα|Comp(t)− a4 · prot(t) · IκBα(t)

d

dt
IκBαn(t) = −a1 · IκBαn(t) ·NFκBn(t) + i1a · kv · IκBα(t)− e1a · kv · IκBαn(t)

d

dt
IκBαt(t) = (c1a ·NFκBn(t) + ktransk) · (1−ActD(t))− c3a · IκBαt(t)

d

dt
NFκBn(t) = kv · a3 · (1−mg(t)) · IKKp(t) ·NFκB|IκBα(t)−

a1 · IκBαn(t) ·NFκBn(t) + kv · c6a ·NFκB|IκBα(t) · (1−mg(t))

d

dt
NFκB|IκBα(t) = −a3 · (1−mg(t)) · IKKp(t) ·NFκB|IκBα(t)+

(a1 · IκBαn(t) ·NFκBn(t)) ·
1

kv
− c6a ·NFκB|IκBα(t) · (1−mg(t))

d

dt
PP2A(t) = −kuv · uv(t) ·PP2A(t)− ksrc ·PP2A(t) · SRCp(t) + kppdp ·PP2Ap(t)
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d

dt
PP2Ap(t) = ksrc · PP2A(t) · SRCp(t)− kppdp · PP2Ap(t)

d

dt
SRCp(t) = kova · (1− SRCp(t)) · ova(t)

d

dt
prot(t) = ova(t) · kprot · (1− prot(t))

d

dt
IκBα|Comp(t) = ap1 · IκBα(t) · Comp(t)− ap11 · IκBα|Comp(t)−

p2 · prot(t) · IκBα|Comp(t)− p1 · IκBα|Comp(t) · IKKp(t) · (1−mg(t))

d

dt
Comp(t) = −ap1 · IκBα(t) · Comp(t) + ap11 · IκBα|Comp(t)+

p2 · prot(t) · IκBα|Comp(t) + p1 · IκBα|Comp(t) · IKKp(t) · (1−mg(t))
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